Dimensional analysis solutions.



Pm\o\tw\ 1. So\\r\mvx-
W wod o 5nd b ad ¢S4

C= LEAP"4 d\vv\&m\ov\o\\\% Gshen)
Tid we wie e Jracot of aade Temm of
Ao QoY 16 -

[k] =1 _
[£1: WT ’
Lo] - ML

o] =
Lrl -

NGK\) We, Wn  Wuypde /H‘\Q, foi\&m\mac crll(‘m‘-

L= T ) )
L: Mmg E&—?b T—zc”g

§o, We wn now W @ &&ijﬁnv\ O‘p

CQUO\\\UAS k



(o) a+b =0 (SO'H,M\ [\/\cﬁb:i>
@) 26-3b=1 (& |7 =L)
(3) e =g (S T’"‘“:l)

N@\U/M Colie ’H"L &OSJMW\ of eq,ualtcf\g—

{ axb =0 26-3b =
263> | f“ZCwL ElS
L /

-26 7th =0 “3b+ ¢ =

o ~3bh = | '5("/5\ b=

~Sh = | C = 1-3
b= -5 (= 2/g



We wek Yo dnd X w dws of hoade
\% J[M@“ a PYOFGG’}\C\“O'\V\? J(QC}CN Ojf 2.

” we, Ut\v&jr v\m\{ /H«Q Alvwm&\C}“S Og ¢ach
o 4\1& zquor\\cm. Noﬁm Jr\ho\\ Vo
Q;thcl\uk EMV Uh\xr Ql/\a\;c«g.

Wk, w\\ CADIRSS JYL& Mvans o, 01( OMCJQ o Q.

Tup | -MLT Q"

1§ -T7"
el = @
hl=MLT
Lkr]:?

Som Ky o S



We  (an w\r»\% %LL equr\kunl

-l
LV ]

(el =T (MCTQ0,
Dﬂsl - M_] [1 TQ
Now, nde Y L[] =M LT

G [kl = Lh] Lel
AVIA \V\,C\\)C)\\\ni\/ ’}\m J(wlo( Oc 2, (uzoqndx

Jis - %



?Yolowa 3. Sdl\)—\ lan

é\b&m'— R\\: AERA'S
n

We see thot TRal= (1]
/ﬂwv\, We yed fid Mo Qoo o
(iutsjro«czd-
[ Thike B e oned way 4 et Al
(angiont Q\Jf7 (emslwa (s me Ohw' ¢ Lo
Q= \ awmd T = _AQ

L At
o= =D’
(1]

w, (I1:Q7 =3l =Q' 7
od oo [v]= MUT QT

SO? [Ka _ MCT-\Q:L



Now | Sme Lhl “MUT ' el
Ee"] - C\)‘/ e CQ/\C\\)&,

e = W

e)?_



